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1] 11|MTDSC-2 20 0 0 0 8 0 0 0 0 0| 10 0 4 0] 15 0 0 2 2 41
2] 10[HSHE—HHT-1 40 0 0 0 8 0 0 0 4 0 0 6 0 0 0 0 2| 22 52
3 9] Dél-Pest Nosztalgia-2 25 0 0 0] 12 0 0 0 1 0 0] 29 0] 25 0 0 0] 10 90
4] 14]Dél-Pest Nosztalgia-3 0] 60| 60 0] 24 0 0 0 6 0 0] 37 0 0 0 0 0] 16 163
5 8| KPSE-Kecskemét-2 40 0 0 0] 24 0 0 0 4 0 0| 60 0] 15 0 1 0] 58 120
6 2]KPSE-Kecskemét-1 25 60 0 0] 48 0 0 0 4 0 0] 16| 60 0 0 0 0] 40 165
7 4] Postas SE 40| 60| 60 0 0 0 0 0 0] 100 0| 30 0| 15 0 0 5 6 310
8 T|Foldporgets-1 20 0 0] 60| 36 0] 60 0 0 0| 58 0] 60 0 0 1| 44 273
9 5]Dél-Pest Nosztalgia-1 40 0 0] 60| 82| 60 0 0 0 0| 60 0] 100 0 0 0] 64 324
10 KPSE-Kecskemét-3 60 60| 60| 60| 60| 60[ 60 60 60 60| 60| 60| 60| 60 60 1 0 865




